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Practice Applications and Problem Solving
Al 17. a) Graph the lines y = 20 = 4 450 y=v—+

Finnd the covrdinates af the pomit q.l“.rlrm';r?rﬁ'rfmf_ foi on the same set "_ﬂ AXES. _ |
el i of lines. b) What figrure is formed by these lines and the |

1 . 2. A=axIs?

B|
18. Truck rentals iy companies rent trucks,
(0 { ) pd Company A charges $80.00 for the truck, phus
) b - / e * $0.20/km. Company B charges $0.60/km.
/ \ a) Write an equarion for each company’s rental
cost in terms of the distance driven.
b) Graph both equations on the same set of axes.
If you graph manually, use the following numbers

|
|

U bt i the point of tntersection £ “edach of the 0 .
e point of 2 fo f of kilometres in your tables of values: 50, 100,

E)) o Y 150, 200, 250, 300,
€) Find the coordinates of the point of
intersection.

1d) Explain the meanin g of the point of
intersection,
e) Which company is cheaper if you drive
150 km? 250 km?

19. Highway driving A¢ 12 30, Kenji left town
driving at 80 ki/h. At 13:00, Yvette left town
along the same highway driving at 100 km/h.

a) Construct a table of distance and time values
tor each driver,

b) Plot both graphs on the same grid.

5. Write an equation for the line represented by €) Atwhat time did Yvetre catch up with Kenji?
each table of values in questions 3 and 4. d) How far had they travelled?

-1
-2

Find the coordinater of the point of intersection of eackh 20. a) Graph all 3 lines on the same grid or in
P{fflj.' qr.‘rfl’?{.'f_ ' 1'I"|Fl- D W %18 e H L = =
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1. State whether each slope is positive or 14. The graph shows how far Danzel eycled
negative. in 3 h. Eﬁrﬁ“ T I I TIIT]
o= \Ww T ; ol L

- ' F 10 .:-%

4N CHE S B B i

E . / J 1
- E eﬂmu{m
'm P © A : ' a) About how far did he travel in 2 h 45§

2. State the slope and the equation of each b) About how long did it take him to cycle

kom? i
n N 'ﬁ line stg;nent , m !m |_, J‘.&I‘%’ fa{ﬂ\ﬁmsdﬂm slope of this line tell ynumréw
I | : L iR 15. a) On the same grid, d:awa]meth:ougﬁ”
. A(1, 4) and B(-2, 2) and a line through i

L
¥ —

) v i P(~1, ~1) and Q(2, 1). g
: | \ t’ . 2 L6 | x b) Calculate the slope of each line in part ).
E . P ' T — ¢) Use your answer to part b) to explain why

b these lines are parallel.

MAENERIEEERE s
o ) 16. a) Plot the points P(-4, 2), Q(-1, -2),
r%l'l' ?031"".1: slope of each line segment. R(4, —2), and S(1, 2). Join PQ, OR, RS, :

17 }- b) Draw diagonals PR and QS.

- | - ¢) The diagonals PR and QS are

1! \(e ; . ' : perpendicular to each other. Find the slope

‘) ﬂa q ' i ' ‘Fﬂ ] of each diagonal. How are the slopes rclat:&
[ ! — - d) Is this relationship true for any pair of =

: perpendicular lines? 4

A T - 17. The lengths of 2 ski slopes are 625 m
- 'L S : d 760 m. The h 1 dis from
— hq l’( - — i an m. The horizontal distance 13

W

{\ _ 4=t / slopes is 300 m. ;;_F
{ _ a) What is the height of the higher ski slope
Determine the slopé of the line passing through to the nearest metre? .

each pair of pomnts. ' b) Which of the 2 ski slopes is steeper? I
4. Mir l"}}: Hﬁ: B) 5. E{?'! 4}: D{?: 4} \RU/
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